
VX
8620.520
8620.521

Dok.-Nr. / No of doc.: D-0000-00001624-00
Versandbeutel-Nr. / No. of accessory bag: 373604

Ident-Nr. / Part No.: 340807
Lieferanten-Nr. / No. of supplier:

12x M5x12

www.rittal.com

M5x12

MA= 5 Nm

M5x12

MA= 5 Nm

7 8

9

TX30

2x Ø6.1

2x M6

2x A6.4

2x

2x

2x

2x

SW10

W
[mm]

Best.-Nr.
Model No.
Référence

600 8620.520

800 8620.521

4x ST3,9x9,5



M5x12

MA= 5 Nm

ST3,9x9,5

MA= 5 NmM6MA= 5 Nm

A6,4

Ø6,1

1 2 3

4 5

MA= 5 Nm

M6

A6,4

Ø6,1

6


	Datum 4: 
	Textfeld 1: 


